Quadrant 2
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(-1,3)
-14.85 1u 4 14.85
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2 2
x=1y=3 r2=x24y2 =(-1)"+(3) =1 +9=10 impliesr=+ (10 ) =10
0 =108.435 °=1.89255 radians 6 =reference angle=71.5651 °=1.24905 radians
\f —\/10
sin 6 3/\/10 cosO=1/J10 = tan6=3/-1=73
10
\/10 -1
csc =10 B=—— sec 6=\/10 /1 ——\/10 cot@=1RB=—
3 3
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|
NEVER calculate the reference angle in any quadrant BUT quadrant 1,

THEN reference into quadrant that the point lies in

3-\ 10
sin @' =3/\/ 10 = 0'=sin™ (3/\/ 10 )*71.5651°
10

Since this point (-1, 3) is inquadrant2 6=180°-sin" (3/\/ 10 )~108.435°

\/ 10
cos 0'=1 /\/ 10 =— 0'=cos™ (1 /\f 10 )=71.5651°
10

Since this point (-1, 3) is inquadrant2 6=180°-cos™ (1 /\/ 10 )~108.435°

tan@'=3/1=3 O'=tan™ (3/1)=71.5651°

Since this point('1,3)is inquadran ©6=180°tan™ (3/1)~108.435°
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Quadrant 3

354 1
4 u : X
534 J p 1 1477
5 u
(-4,5) 6.26 |
2 2
X="4 y=-15 r2 =x2+y2 =(-4) +(-5) =16 +25 =41 impliesr=+ (41 )=\/41
0 =231.34 °=4.03765 radians @ =reference angle =51.3402 °=0.896055 radians
-5- \/41 -4- \|41 5
sin®=">5 /\J4] =— cos0=4/\4] =— tan®=>5 /4 =—
41 41 4
—\/41 —\f41 4
csc ©6=\J41 /5= sec 6=\/41 /4= cot@=4/5=—
5 4 5
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|
NEVER calculate the reference angle in any quadrant BUT quadrant 1,

THEN reference into quadrant that the point lies in

0'=sin™ (5 /\/41 )=51.3402°

sin©' =5/\/ﬁ=5. \/14_1

4
Since this point (-4, -5) is in quadrant 3 ©=180°+sin™ (5/\/41 )=231.34°

cos ©' =4/\/E = - \/H
41

0'=cos™ (4/\} 4] )=51.3402°

Since this point (-4, -5) is in quadrant 3 6=180°+cos™ (4/\/41 )~231.34°

5
tan@'=5/4=— 0'=tan™ (5/4)~51.3402°
4

Since this point (-4, -5) is in quadrant 3 0=180°+tan™ (5 /4 )=231.34°
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Quadrant 4

5 |

4.77 |
54"
xi
-16.89 Q' L 2 U 10 16.44
------- ~ (5,2)
-6.07
2 2
x =5 y=2 rZ=x242 =(5) +(2) =25 +4=29 implies r =¥ (29) =/29

0 = 338.199 °=5.90268 radians &' =reference angle =21.8014 °=0.380506 radians

-2 JZQ 5¢ \/29 -2

sin @ =2/{/29 =— cos 0 =5/\29 = tan © =2/5=—

29 5

— ’29 —_

csc © =\/ 29 /-2=T sec © =\/29 /5=— cot © =5/-2=?
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|
NEVER calculate the reference angle in any quadrant BUT quadrant 1,

THEN reference into quadrant that the point lies in

2 \/29
sin@'=2/\/29 = ©'=sin™ (2/\/ 29 )=21.8014°

29
Since this point (5, 2) is in quadrant 4 ©=360°-sin" (2/\/ 29 )=338.199 °

5-\ 29
29
Since this point (5, -2) is in quadrant 4 ©=360°-cos™ (5/\}29 )~338.199 °

cos 0'=5/\/29 = B'=cos™ (5/\/2() )=21.8014 °

2
tan @' =2/5=— B'=tan™(2/5)~=21.8014 °
5

Since this point (5, 2) is in quadrant 4 8=360°-tan (2 /5)~338.199 °
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